



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(-\frac{2}{5}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right) + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right) + \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(-\frac{2}{5}\right) + \frac{1}{5} = \left(-\frac{1}{5}\right)$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(\frac{3}{5}\right) - \left(-\frac{3}{4}\right) = \frac{27}{20} = 1\frac{7}{20}$$

$$\left(-\frac{2}{5}\right) + \frac{3}{4} = \frac{7}{20}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) = \frac{11}{100}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{3} = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) = (-1)$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{4} = \left(-\frac{407}{500}\right)$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{125}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{1}{4}\right) + \frac{2}{5} = \frac{3}{20}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) = \frac{11}{48}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{79}{100}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{2}{5}\right) = \frac{9}{10}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \frac{5}{6}$$